MIAMI-DADE MIAMI-DADE COUNTY

COUNTY PRODUCT CONTROL SECTION
DEPARTMENT OF PERMITTING, ENVIRONMENT, AND REGULATORY 11803 SW 26 Street, Room 208 -
AFFAIRS (PERA) Miami, Florida 33175-2474..... .
BOARD AND CODE ADMINISTRATION DIVISION ) T {786) 315-2590  F (786) 315-2599 -
NOTICE OF ACCEPTANCE (NOA) www.mismidade.gov/pera/
Ingersoll-Rand o
6810 Hillsdale Court

Indianapolis, IN 46250

SCOPE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed and accepted by Miami-Dade County PERA -Product Control
Section to be used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction
(AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, ot suspend the use of such product or material within their jurisdiction. PERA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Scction that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: IR Series “Schlage /Broadway/Dexter, Cobra Keypad” Passage locks w/Deadbolts
Hardware-Component Approval

APPROVAL DOCUMENT: Drawing No. “§-2303” Rev G, titled “IR-Schlage”, sheets 1 through 12 of 12,
dated 01-28-03 & last revised on 08-23-08, prepared by manufacturer, signed and sealed by Gordon Thomas,
signed and sealed by Thomas Gordon, P.E., bearing the Miami-Dade County Product Control Revision stamp
with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large Missile Impact Resistant

Limitations:

1. Hardware to be used with Single Door application only, see DP (Design Pressure) ratings in sheet 1.

2. Cobra Keypad to be used w/ Schlage F-latch & deadbolts

3. Electrical/Electronic function is not part of this approval, such functions to be reviewed and approved by AHJ.

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Security, Colorado,
and series and following statement: "Miami-Dade County Product Control Approved", noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it
shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 08-0908.19 and consists of this page 1 and evidence pages E-1 as well as approval
document mentioned above,

The submitted documentation was reviewed by Ishaq I. Chanda, P.E.

NOA No 12-0305.08

Expiration Date: November 28, 2013
MIAMI-DADE COUNTY Approval Date: May 31,2012
\%ﬂ\ : [ AFPROVED : Page 1

v



Ingersoll-Rand

NOTICE OF ACCEPTANCE: ~_ EVIDENCE SUBMITTED

A, DRAWINGS
1. Manufacturer's parts and sections drawings (submitted under file # 08-0908.19)
2. Drawing No. “S-2303” Rev G, titled “IR-Schiage”, sheets 1 through 12 of 12, dated 01-28-03 & last
revised on 08-23-08, prepared by manufacturer, signed and sealed by Thomas Gordon, P.E.

B. TESTS (Submitted under file # 08-0908.19)

1. Testreporton 1) Air Infiliration Test, per TAS 202-94(Not conducted)

2) Water Resistance Test per FBC TAS 202-94(Not conducted)

3) Uniform Static Air Pressure Test, Loading per TAS 202-94

4) Large Missile Impact Test per FBC, TAS 201-94

5) Cyeclic Wind Pressure Loading per FBC, TAS 203-94

6) Forced Entry Test, per FBC, TAS 202-94
Along with marked-up drawings and installation diagram of Single Residential Steel /Fiberglass
door w/ wood edge or steel edge, prepared by Certified Testing Laboratory, Architectural Division,
Test Report No. CTLA-992W, dated January 02, 2003 with addendum letter dated August 29,
2003, signed and sealed by Ramesh Patel, P.E.

C. CALCULATIONS: ' :
1. Evaluation & performance analysis dated 11/11/05, prepared, signed and sealed by Gordon
Thomas, P. E. (submitted under file # 08-0908.19).

D. QUALITY ASSURANCE BY
1. Miami Dade Department of Permitting, Environment, and Regulatory Affairs (PERA).

E. MATERIAL CERTIFICATIONS (Submitted under file # 08-0908.19)
1. None

F. STATEMENTS :
1. Letter of conformance to FBC 2010 “No financial interest” dated 02/15/12, signed and sealed
by Gordon Thomas, P.E.
2. Letter of conformance to FBC 2007 & “No financial interest” dated August 23, 2008, signed
and sealed by Gordon Thomas, P.E.
3. Laboratory Statement of compliance, part of the test report CTL.A-992W, signed and sealed
by Ramesh C.Patel, P.E.

G. OTHER
1. This NOA revises NOA # 08-0908.19, cxpired on 11/28/13.
2. IR-Schlage passage & deadbolt brochures.

]g,[mﬁ / é%ﬁﬂ..[é«

/Ishaq 1. Chanda, P.E.

Produet Control Examiner

NOA No 12-0305.08

Expiration Date: November 28, 2013
Approval Date: May 31,2012




L

i3 SCHLAGE <Lt VIS TONS
f GENERAL NOTES ) IR Securlty and Salaty LTR DESCRIPTION DATE APPROVED
1. THIS PRODUCT IS DESIGNED TO MEET THE FLORIDA BUILDING 3899 HancooREwpresoway Security, GO 80911 Ph: 719,390.5071 Fax: 718.342.8153 :
CODE FOR HIGH VELOCITY HURRICANE ZONE. : MIAMI-DADE APPROVED B | MEW BORDER YMF 05703705
2. THE LOCK HARDWARE PRODUCTS LISTED IN THIS NOA SHALL BE USED IN HARDWARE COMPONENTS F | REVISED_PER_DC_BCCD YMF |02/13/06
CONJUCTION WITH CURRENT NOA'S UTILIZING SIMILAR COMPONENTS o 0
AND WILL BE LIMITED BY THE LESSER DESIGN PRESSURE. G | REVISED PER_DC_BCCO YMF |05/02/06
THE PRODUCTS CAN BE USED WITH FIBERGLASS, WOOD AND '
STEEL SIDE HINGED SWING DOORS, HOLDING GURRENT NOA. DESIGN PRESSURE RATING OUT/INSWING UNITS (SINGLE DOORS)
‘ ' MAX. DOOR SIZE, TYPE & SWING | DESIGN PRESSURE
3. DESIGN PRESSURE RATING SEE TABLE PAGE 1. HARDWARE MODEL (UNDER SEPARATE APPROVAL) RATING
4 THE LOCK HARDWARE PRODUCTS LISTED IN THIS NOA MEET THE SCHLAGE F-SERIES LOCK [F(A)10/40/51] WITH SCHLAGE B360/362 DEADBOLT OR
AEQUIRMENTS FOR HIGH VELOCITY HURRICANE WINDBORNE SCHLAGE F(A}360/362 PASSAGE HANDLESET WITH B360/362 DEADBOLT
DEBRIS ZONES AS PRESCRIBED IN SECTION 1626 OF THE
FLORIDA BUILDING CODE, DESIGN PRESSURES ARE LIMITED SCHLAGE F-SERIES LOCK [F(A)10/40/51) W / B260/262 DEADBOLT,
. BY THE NOA'S THAT THEY ARE USED IN CONJUCTION WITH. ) OR SCHLAGE F(A)260/262 PASSAGE HANDLESET WITH B260/262 DEADBOLT 30" X 80" SINGLE DOOR
' - WOOD OR STEEL EDGE +67.0psf - 67.0psf
COBRA KEYPAD (KPL) (WITH SCHLAGE F-LATCH) [FE575/576/577) WITH SCHLAGE B360/362 OR IN-SWING OR OUT-SWING
B260/262, DEXTER JD60/62, OR BROADWAY U1060/1062 DEADBOLT
4 RESIDENTIAL & LIGHT COMMERCIAL 161 HARDWARE ) COBRA "PLUS" KEYPAD (KPL) (WITH SCHLAGE F-LATCH)
SCHLAGE F(A)-SERIES 161 CYLINDRICAL LOCK (F(A)0/40/51) [FE595/596/597] WITH SCHLAGE B360/362 OR B260/262, DEXTER JD60/62, OR BROADWAY
WITH SCHLAGE B360/362 DEADBOLT U1060/1062 DEADBOLT _
OR ; Qi nn
SCHLAGE F(A)360/362 PASSAGE HANDLESET WITH DEADBOLT SCHLAGE $200 SERIES {S210/251/270/280) INTERCONNECTED ENTRANCE LOGK WITH 307 X 80" SINGLE DOOR 55.006f - 55.0p5f
: DEADBOLT _ WOOD EDGE +otp <ps
SCHLAGE F-SERIES - 161 CYLINDRICAL LOCK (F(A)10/40/51) IN-SWING OR OUT-SWING
WITH SCHLAGE B260/262 DEADBOLT
DEXTER J-SERIES LOCK (J10/40/54) WITH JD-SERIES (JD60/62) DEADBOLT
COBRA (FE575/576/577) OR COBRA "PLUS” (FE596/596/597) KEYPAD - KPL OR JH-SERIES HANDLESET WITH DEADBOLT (JHE0/62) 30" X 80" SINGLE DOOR
AND SCHLAGE F-LATCH , ' WOOD OR STEEL EDGE
WITH SCHLAGE B360/362, B260/262, DEXTER JD60/62 OR BROADWAY BROADWAY U-SERIES LOCK (U10/40/51) WITH BROADWAY 81060/1062 DEADBOLT IN-SWING OR OUT-SWING
B1060/1062 DEADBOLT OR U1060/1062 PASSAGE HANDLESET WITH BROADWAY B1080/1062 DEADBOLT +67.0pst - 67.0psf
SCHLAGE 5200 SERIES (S210/251/270/280) OR SCHLAGE H100 SERIES 30" X 68" SINGLE DOOR
(H110/153/180/185) INTERCONNECTED ENTRANCE LOCK SCHLAGE $200 SERIES (S210/251/270/280) INTERCONNECTED ENTRANCE LOCK WITH WOOD EDGE
161 INTERCONNECTED LATCH & DEADBOLT DEADBOLT , IN-SWING OR OUT-SWING
DEXTER J-SERIES - 161 CYLINDRICAL LOGK (J10/40/54) ‘ .
WITH JD-SERIES (JD60/62) DEADBOLT LIMITATION AND SPECIFICATION NOTES:
OR 1. THIS DEVICE IS APPROVED TO BE EQUAL ALTERNATIVE TO BE ) )
DEXTER JH-SERIES HANDLESET WITH DEADBOLT (JH60/62) USED IN SINGLE SOLID WOOD, STEEL AND FIBERGLASS DOORS, 4. DOOR JAMBS SHALL BE MINIMUM 1.25" WIDE x 4.5" DEEP PINE
HOLDING CURRENT NOA. THE LOWEST DESIGN PRESSURE WOOD OR BETTER.
BROADWAY U-SERIES - 161 CYLINDRICAL LOCK (U10/40/51) RATING SHALL APPLY. 5. THIS DEVICE SHALL BE INSTALLED iN A SINGLE DOOR NO
- WITH BROADWAY B1060/1062 DEADBOLT 2. DOOR PANEL SHALL BE CORE FILLED WITH APPROVED WIDER THAN 36.0" AND HIGHER THAN 96.0", (SEE DESIGN
. OR POLYSTYRENE OR POLYURETHANE COMPLYING WITH FLORIDA PRESSURE TABLE).
BROADWAY U1060/1062 PASSAGE HANDLESET WITH BROADWAY B1060 BUILDING CODE, OR STIFFENERS WITH PANEL MINIMUM OVERALL 6, ELECTRICAL/ELECTRONIC FUNCTION AND INSTALLATION
DEADBOLT J 1.75" THICKNESS, OTHER THAN SELF CONTAINED ELECTRONIC DEVICE, IS NOT
A\ 3. DOOR PANEL FACE SHEETS TO BE MINIMUM 24ga. OR BETTER PART OF THIS APPROVAL AND SUCH INSTALLATION MUSTBE
FOR STEEL DOORS AND MINIMUM 0.070% SMC FOR FIBERGLASS REVIEWED BY CORRESPONDING BUILDING AUTHORITY.
DOORS. LOCK STILES FOR THE WOOD EDGE STEEL DOOR SHALL 7. EGRESS COMPLIANCE TO BE REVIEWED BY BUILRING 6‘€
BE MINIMUM 1.66" WIDE x 1.251" DEEP. LOCK STILES FOR THE OFFICIALS. _ \
STEEL EDGE STEEL DOOR SHALL BE MINIMUM 0.040" ROLL \(bﬁ
SFEETE TAB;iggH?’?#giNTS FORMED STEEL, TOP & BOTTOM RAIL; 1.69" WIDE x 0.50" DEEP, ' @ ,\\% !
SIDE STILES; 1.69" WIDE x 0.625" DEEP & WOOD LOCK BLOCK.
1 GENERAL NOTES & APPROVED HARDWARE MODELS WIDE x e g‘ Ye —
2 TYPICAL JAMB TO BUCK & DOOR CROSS SECTIONS 1 @ 1l Rand _ '
3 | SCHLAGE E10 SERIES PASSAGE , !ﬁ%ﬁﬁ?mg; in
4 SCHLAGE B360 SERIES DEADBOLT VEQDUCT REVISED _ PRODUCT RENEWED o . %_E_ 111 Congressional Bivd., Suite 200
5 SCHLAGE B260 SERIES DEADBOLT s eugapiing with the Parith. ﬁBs ggppm with the Moty s e PO —— Cormel, Indiana 46032
- 3 i Mg ¢ THIRD ANGLE PROJECTIO TITLE - MIAMI- E CD Y APPROV.
6 SCHLAGE U10 BROADWAY SERIES PASSAGE KNOB/LEVER Mahnon':. 12-030C. 0% At o 390315 | iR aGLE pROUECTION SCHLACE o R
7 SCHLAGE B1060 BROADWAY SERIES DEADBOLT Awonp ﬁm;} Expirntion Date Afo v 127 ROF . ANSI GRADE 1, 2 OR 3
8 SCHLAGE DEXTER SERIES J10 CNA PASSAGE Expirvation % N : i ANST GRADE 1,
. 9 SCHLAGE DEXTER SERIES JD60 CYLINDER DEADBOLT a %&&% &:;;u}%“d“e [ M’w‘:' 3 GENERAL NOTES AND APPROVED MODELS
10 SCHLAGE S200 SERIES INNTERCONNECTED LOCK Diviion o N L A— STZE[FUAT DG T REV
1 |COBRA KEYPAD (KPL) FE575/595 WITH ESCUTCHEON TRIM & SCHLAGE LATCH ' B S-2303 SHEET 1 [JF 1p G
ENG. aPPVL
12 _|COBRA KEYPAD (KPL) FE575/595 SERIES WITH ROSE TRIM & SCHLAGE LATCH =
© i - HENTS | AUTOCAD | |

o




REVISIDONS
2X BUCK LTR DESCRIPTION DATE APPROVED
(BY OTHERS) ) . | € 1 NEW BORDER, REVD NOTE YMF {11/02/05
* 1/4" MAX. | TYP. WOOD LOC',:K BLOCK” ’ F | REVISED PER DC BCCO YMF [02.13.06
SHIM Py STEEL EDGE: 4" x 1.537" x 24
TYPICAL DOOR WOOD EDGE: 2.6" x 1.625" x 10.375"

AT LATCH J It
FIBERGLASS: 2.375" x 1.515" x FULL LENGTH

LATCH ASSEMBLY
(0.5" MIN. THROW)

WwOOD

FRAME '\

00°

#8 x 2 1/2" O °L‘ \\

OR #12 x 3" 8% L7 Syee

" PHILLIPS FLAT HEAD

SHEET METAL SCREW TYPICAL DOOR CROSS—SECTION
AT LATCH ARFA

STEEL EDGE DOOR SHOWN. SEE
SHEET 1 FOR OTHER TYPES OF

(A

== 3’0 MAX WIDTH ~—]

#8 x 1 1/4"
PFH WOOD SCREW

DOORS
LATCH 3
TRIKEPLATE DETAI
TRIKE
S Sk Of Va-a
PICAL LATCH INSTALLATION B— x P
FOR LLUGTRATON: PUKPORE- By - O Va-s
w -
q/qj\é@
2X BUCK (&
(BY OTHERS) (L
, TYP. WOOD LOCK BLOCK
1/4" MAX, STEEL EDGE: 4" x 1.537" x 24" ~ SINGLE DOOR
SHIM \ TYPICAL DOOR WOOD EDGE: 2.8” x 1.625" x 10.375" UNDER SEPARATE APPROVAL
i AT DEADBOLT | FIBERGLASS: 2.375" x 1.515" x FULL LENGTH _
| Fv;?\ag | \ BOLT ASSEMBLY
\ ( (1" MIN, THROW)
S \ PPN FHOBUCT REVISRS é:cggmmmxm
n . W h' Flovikd. 4
ol #8 x 2 1/2" D Auidhig Snde o] Aceptinenne, rida
- |_OR #12 x 3 oo o Auestion s [/ /2307 2]  ENVImtion Dipre 1081
PHILLIPS FLAT HEAD [ (W' o L o Jotee | Lawd| By %2”3
SHEET METAL SCREW . o0 48 x 1 1/4" by A MR Tl ey Miinl Do kgt ee o
) 6 ivision
TYPICAL DOQR CROSS=SECTION PFH WOOD SCREW
AT DEADBOLT AREA == =) . =
STEEL EDGE DOOR SHOWN. ‘SEE - -
SHEET 1 FOR OTHER TYPES OF | (L o
o _ DOORS .@ -_E.- 111 Congrassional Bivd, Suite 200
" *'|. DEADBOLT \ #8 x 3/4" PFH ForAIEl ANGLE PROECION  [TTTL - an
STRIKE WOOD SCREW Wi__‘é'NOF :::fn SCHLAGE LOCK COMPANY
 eTECRED TYPICAL JAMB TO BUCK
REINFORCEMENT & DODR CROSS SECTIONS
. &  AFPROVED SiZE  [FLAT WG W, REV
, TRIKEPLATE DETAI $S-2303 SHEET 2 0OF 12 |¢
TYPICAL DEADBOLT INSTAL{ATION A—A R ARV
- FOR ILLUSTRATION PURPOSE ONLY | A% NTS | AUTOCAD | |




-—1.40"—-’ ’—1.40”~’ REV ISIONS

LTR DESCRIPTION | DATE | APPROVED

/@ e 4 € | NEW BORDER, REVD NODTEYMF [11/02/05
/® F | REVISED PER DC BCCOD YMF [02.13.06
OPTIONAL

5" THROW
- 1.63" —— — 1.63" —
JAMB_STRIKE
7 0.057" MIN. STEEL

2.25"
2.25

! £ By

v

P /@ (@) e
w n /@ “ﬁ
3 X % i
L g
. RO
| ® T,
LATCH STRIKE
0.052" MIN. STEEL
- - PuPUCT FEVISSD s :snonucmmmxa
i ' whm 2020505 mﬁ'ﬂ"‘o&. Ao Mortda
DESCRIPTION IR—SCHLAGE F—SERIES A e T | ol g2/ lr
1_[KNOB, OUTSIDE (F(A)10/40/51) Wa— nl&x})__{,%’
ROSE TRIM, OUTSIDE CYLINDRICAL LOCK TO BE Divt g 0¢ Prodest Contie™
CHASIS, OUTSIDE USED WITH SCHLAGE |
CHASIS, INSIDE B260/360 SERIES
ROSE TRIM, INSIDE DEADBOLT
KNOB, INSIDE e _
SCREW, KNOB MOUNTING (AR rngersol rand
STANDARD PACKAGE JAMB_STRIKE &= | 11 Congrenionol B St 200
LATCH STRIKE, STANDARD PACKAGF IUIRD aNGLE PROJECTION [ TTTE WRHISIAR CURTY RPPROVAL '
| #8 x 2 1/2 PHILLIPS FLAT HEAD WOOD SCREW (LATCH TO FRAME) "ROF |vewo csgéﬁfﬁ?cictni N
1 | #8 x 1 1/4 PHILLIPS FLAT HEAD WOOD (STRIKEE TO DOOR) CHECKED KNGOB SERIES SHOWN
12 |VISUAL PACKAGE JAMB STRIKE AFRVED Reamury TR TR
- H -
" [LATCH STRIKE, VISUAL PACKAGE S STE303 SAEET 3 OF 12 IF
. SAE NTS | AUTOCAD | |




REVISIONS

LTR DESCRIPTION DATE APPROVED

NEW BORDER, REVD NOTEYMF [11/02/05

REVISED PER DC BCCO YMF [02.13.06

6| REVISED PER DC BCCO YMF |05/02/06 N

DIE CAST ZINC
ZAMAK 3

&
7\
10
JAMB._STRIKE %L’ W
0.067" THK. STEEL

' [~
2—PARTS
JAMB-STRIKE KIT J
| ]
ol .

D.T.'ZEO'EOT’?-ICKI.:.Mg'?EEL ;”QWCT_%:"S&O b Rgggbcl'mf:t
T IR=SCHLAGE B360 SERIES DEADBOLT TO BE USED prcsnhac IO 0% m;gﬁ;:e Pt
- WITH SCHLAGE F—SERIES mu‘m%; Ex?imﬁannal:fsf‘aé‘%&;ﬁ
TEM | 7 DESCRIPTION (F(A)10/40/51) CYLINDRICAL LOCKS OR COBRA lthgen |, mlﬁv, Lﬁ%"ﬁ*
.| SCHIAGE SERIES SINGLE CYL. DEADBOLT B3GON (FES75/576 /577 /595/596/597) KEYPAD (KPL) T Dk Fecloct Sened | 1! D23k Product Gonirg”
2 "|OUTSIDE ASSEMBLY WITH SCHLAGE F—-SERIES LATCH
13 |RING ADAPTOR e
(4. | THUMBTURN HOUSING ASSEMBLY DESIGN PRESSURE RATING (’ﬁ),,,gem;md
19 |MOUNTING SCREW 2 1/4" LONG x .244" @ (OUT-SWING / IN-SWING) | " Secrty Retwlogies
6 |LATCH (THE BOLT IS DIE CAST 7INC—ZAMAK 3) MAX. 30 x 80 DOOR &1 e i dobga
B Gy N " B M{~ L -
L JAMB STRIKE +67.0psf | ~67.0psf A L PR T SCHLAGE LOCK COMPANY
1.8 |JAMB_REINFORCEMENT ROF e B360 SCHLAGE
|9 "|#8 x 1 1/4” PHILLIPS FLAT HEAD WOOD SCREW CHECKED SERIES DEADSOLT
AT n (APFROVED SIZE | FLAT BWG wiL - '
[10_|#12° X 3" PHILPS FLAT HEAD WOOD SCREW $S-2303 SHEET 4 OF 12 | ¢
{11 | #8 x 3/4” PHILLIPS FLAT HEAD WOOD SCREW ENGAPRUL
] " NTS | AUTOCAD | ]




R

et e 4
28 A X

2

IR—SCHLAGE B260 SERIES DEADBOLT TO BE
USED WITH SCHLAGE F—SERIES .
(F(A)10/40/51) CYLINDRICAL LOCKS OR COBRA

(FES75/576/577/595/596 /597) KEYPAD (KPL)
WITH SCHLAGE F—SERIES LATCH

DESIGN PRESSURE RATING
(OUT—SWING / IN—SWING)
MAX. 3'0 x 8’0 DOOR

+67.0psf | —~67.0psf

DIE CAST ZINC
ZAMAK 3

[TTEM

DESCRIPTION
1__ |SCHLAGE B260 SERIES DEADBOLT
2 . [KEY
3 |ASSEMBLY HOUSING OUTSIDE
L4 _ | LATCH, B260 (BOLT MATERIAL IS DIE CAST ZINC-ZAWAK .3)
O |ASSEMBLY, INSIDE TURN . -~ — *
6 | SCREW, MOUNTING _
7 - [JAMB STRIKE STANDARD
8 |REINFORCER, STRIKE
9 | #8 x 1 1/4" PHILLIPS FLAT HEAD WOOD SCREW
10 | #12 X 3" PHILLIPS FLAT HEAD WOOD SCREW STRIKE REINFORCER
11

#8 X 3/4" PHILLIPS FLAT HEAD WOOD SCREW

U

(19

\/

-’

>

JAMB STRIKE PLATE

1.125" WIDE x 2.75" LONG

x .068" THK. STEEL

2-PARTS

JAMB_STRIKE _KIT

REVISIONS

LTR

DESCRIPTION

DATE APPROVED

NEW BORDER, REVD NOTE YMF

11/02/05

REVISED PER DC BCCO  YMF

02.13.

06

REVISED PER DC BCCO YMF

05/02/06

REINFORCEMENT

1.125" WIDE x 2.75" LONG
x 121" THK. STEEL

ft/
FRODUCT REVISED _
m s pling whb the Floride, PRODUCT RENEW,
Baidbing Cude as ¢ -t
Avphaeee o_)2-D30.C. Oc, Bumﬁ%:ﬁm e Morids

Expiratisn Pate

AmllllnreN <7
Expiration D."hﬁ-é&d;@

alibse il Y rete
prade; 5"'“ /( Gepela.
m k3
Division .Pl'ﬂd’m 2,
('_B)mgersollﬂand
Seturity Technologies
@%-g- 11 Congressionol Hivd., Suite 200
Cormel, Indione 46032
[ THIRD ANGLE PROJECTION | TITLE -
MT%E)F DATE SCHLAGE LOCK COMPANY
1729/03
T Beeg
CHRCKED DEADBOLT
[ APPROVED SIZE JFLAT WG N, REV
S$-2303 SHEET S5 OF 12 |G
ENG. APPVL

SHENTS | AUTOCAD |




REVISIONS

LTR . DESCRIPTION DATE APPROVED
E NEW BORDER, REVD NOTEYMF [11/02/05
F REVISED PER DC BCCO YMF [02.13.06

? .
i

e ®
— 2.225" —

OPTIONAL
LATCH STRIKE JAMB STRIKE
0.052" MIN, THK. STEEL 0.062" MIN. THK, STEEL

FRODUCT REVISED

h tth the Florih) ?RODUCT_RENEWED
IR—BROADWAY U—SERIES (U10/40/51) as complying with the Flare
! CYLINDRICAL LOCK " 2-p Y 85 Buiding Code

Accepiance Nog2 B-703

DESCRIPTION TO BE USED WITH BROADWAY B1060—-SERIES DEADBOLT

U10 BROADWAY SFRIES HALL & .CLOSET
ROSE TRIM

/10 CHASIS

LATCH ASSEMBLY, STANDARD PACKAGE

JAMB STRIKE, STANDARD PACKAGE - )
MOUNTING SCREW i (/71 Ingersoll Rant!
Security Technofogles

WR NCH angreselon: vd.,, Su
#8 X 1 174 PHILLIPS FLAT HEAD WOOD GCREW @9% T e o 16032
#8 2 172 PHILLIPS FLAT HEAD WOOD SCREW M6 aGLE PROCCTION | TTTLE -

KNOB ASSEMBLY ROF SCHLAGE LOCK COMPANY
LY . eern

LEVER ASSEMBLY R TIEERED BROADWAY U-SERIES

12 | LATCH ASSEMBLY, VISUAL PACKAGE PASSAGE (KNUB/LEVER) _
JAMB STRIKE, VISUAL PACKAGE APPROVED STIE  [FLAT G WO, Y

{14 [1LATCH ASSEMBLY, OPTIONAL I— S-2303 SHEET 6 0OF 12

o SRE NTS [ AUTOCAD | |

=1
m
E

Divigion -

i1

©|m] ~go| Ul N[~

S

I
S

-
-t

Ll
=

]

l



REVISIONS

LTR DESCRIPTION DATE APPROVED

- E NEwW BORDER, REVD NOTEYMF |11/02/05

REVISED PER DC BCCO YMF [02.13.06

G REVISED PER DC BCCO YMF |05-/02/06

MPIF POWDERED BRASS
CZP-2002-11

e
oD
JAE STRIE AR
JAMB STRIK . d&
1.125" WIDE x 2.75" LONG
x .068" THK. STEEL
2—PART
JAMB STRIKE KIT
REINFORCEMENT
1.125" W_ll_DE x 2.75" LONG
x .121" THK. STEEL FROBUCT BEVIEED
e S |momscame
- 2-025(. 05 | Buiding Code
| DESCRIPTION | PART NUMBERS IR—B1060 BROADWAY SERIES DEADBOLT A o P | Ao Noog0g08./ 217
BROADWAY_SERIES DFADBOLT LOCK B1060 CLS 625 B1060 CLS 625 TO BE USED WITH BROADWAY U-—SERIES i o | Y,
{OUTAE_CYUNOER ASSEMBLY £129-060 (U10/40/51) CYLINDRICAL LOCKS OR COBRA %ﬁéﬁ%f% i et it Gt | Wi Dt FroiwtCosted?.
- (FE575/576/577/595/596/597) KEYPAD (KPL) o
IMPACT SHELL B500-646
_ !(ATCH ASSEMBLY SQUARE CORNER 11-134 WITH SCHLAGE F—SERIES LATCH
BOLT MATERIAL MPIF POWDERED BRASS CZP-2002-11) | 7Y -
JAMB STRIKE PACKAGE STANDARD PACK 10063 AR nge reoll Rand
INSIDE_HOUSING ASSEMBLY _ RIZ5-042 DESIGN PRESSURE RATING & 111 Conoreesionel S, Sahe 200
MOUNTING SCREW B300-112 | (OUT—SWING / IN*SWING) I e N NS . - Carmel, Indiong 45032
THUMB TURN ASSEMBLY 01-232-DES MAX. 3’0 x 80 DOOR TR THATE ] SCHLAGE LOCK COMPANY
~ - [0 {JAMB STRIKE_REINFORCEMENTS 37-016 ROF vrzsra
- [77_1#8 x 3/4" PHILLIPS FIAT HEAD WOOD SCREW - +67.0psf  —67.0psf GHECKED BL0SO BROADWEAY
- *[72_Jf8 X 1 174" PHLLIPS FUAT HEAD WOOD SCREW | - SERIES DEADBOL —
13~ |WRENCH M504-271 APPRDVED STZE |FLAT bUG ™
14 [#12 X 3 1/27 PHILLIPS FLAT HEAD WOOD SCREW | - S— S-2303 SHEET 7 OF 12 | g
] - ST NTS | AUTOCAD | |




e

=
m
=

—DESCRIFTION

PASSAGE LOCK ASSEMBLY

INSIDE KNOB_BQDY

INSIDE SLEEVE

INSIDE ROSE

INSIDE_ROSE MOUNTING PLATE

INSIDE_DISC_SPRING

INSIDE _DISC_PLATE

ROSE_STUD

@ (o oatn-r-t.n\a...[

QUTSIDE ROSE PLATE

QUTSIDE ROSE

OUTSIDE_SPINDLE

LATCH SPINDLE

SPINDLE

KNOB RETURN SPRING

STOP SPRING PLATE

MACHINE SCR

FRONT FACE PLATE

LATCH UNIT

£8 X 1 1/4" PHILLIPS FLAT HEAD WOOD SCREW

JAMB STRIKE PLATE

#8 X 2 1/27 PHILLIPS FLAT HEAD WOUD SCREW

LATCH STRIKE
0.051" THK. STEFL

IR-DEXTER J—SERIES CYLINDRICAL LOCK
TO BE USED WITH DEXTER JD/JHB0-SERIES DEADBOLT

JAME STRIKE

0.051" THK, STEEL

REVISIONS

LTR DESCRIPTION DATE APPROVED
. E NEW BORDER, REVD NOTEYMF [11/02/05
F REVISED PER DC BCCO 02.13.06

=)

s

ol

|, YRODUCT REVISED
~ &5 copuplying with Hre Fhock,
Butdiby Code

PRODUCT RENEWERY
85 conply with
BuidigCo 0 Morkda

Acceptange No o 2., .
Elph-uo-n-:?w

7

ot
B"L%%%-aj;.“ﬁt
i ¢Gontrd"

©--—

| @ ingersoll Rand

Security Technologles

111 Congressional Blvd., Sulte 200

A
<

. — - Carmel, indlena 46032
(_THIRD ANGLE PROJECTION [TITLE ~ WIAWI-DADE COUNYY APPRLY ¥ APPROVAL
DRAWN BATE" "SCHLAGE LOCK TOMPANY
ROF St 'DEXTER SERIES
CHECKED JI0 CNA PASSAGE
| AFPROVED STZE [FLAT DWE NO.
' 'S-2303 SHEET 8 OF 12
ENG. APPVL

[ NTS ] AUTOCAD ]




EER

iTeM]

DESCRIPTION

SINGLE_CYLINDER DEADBOLT

KEY

KEY UNIT

OUTSIDE _ROSE

RING BODY

STUD

INSIDE_ROSE

INSIDE ROSE MOUNTING PLATE

TURN BUTTON

s [=2 ko coffon fon e fealnof~
B ] el 1

MAJ%H!E SCREW
LATCH UNIT COMPLETED

(BOLT MATERIAL Z0C-2 JAPANESE INDUSTRIAL STANDARD) _

#8 X 3/4° PHILLIPS FLAT HEAD WOOD SCREW

£12 X 3" PHILLIPS FLAT HEAD WO0D SCREW

STRIKE PLATE (JAMB)

STRIKE PLATE REINFORCEMENT (JAMB)

#8 X 1 1/4" PHILLIPS FLAT HEAD WOOD SCREW

ZDC~2 (JAPANESE
INDUSTRIAL STANDARD)

O

JAMB_STRIKE '
0.026" STEEL

2-PARTS

JAMB STRIKE KIT

N
A

REINFORCEMENT

0.082" STEEL

IR—DEXTER JD/JHBO—SERIES CYLINDRICAL DEADBOLT
TO BE USED WITH DEXTER J—SERIES LOCK
OR SCHLAGE COBRA SERIES KEYPAD (KPL) (WITH
SCHLAGE F—LATCH)

DESIGN PRFSSURE RATING
(OUT—SWING / IN—=SWING)
MAX. 3’0 x 80 DOOR

+67.0psf -|—670psf |

Division

Buiding Code
Acceptaner NogP g
Expiration Date

2
/2
E;izmiél)&%w, lﬂ'ﬁ‘:’

REVISITIONS
LTR DESCRIPTION DATE APPROVED
. E | NEW BORDER, REV'D NOTEYMF [11/02/05
F REVISED PER DC BCCO YMF |02.13.06
G REVISED PER DC BCCO YMF |05/02/06
o \oﬁﬁ
PRODUCT REVISED PRODUCT RENEWED
o sopplying with the Flordh. | a5 complying with the Florkla

o

THIRD ANGLE PROJECTION

DRAWN

ROF

DATE
1728103

ENG. APPVL

GHECKED

@ ingersoll Rand

Security Technologles
111 Congressionol Blvd., Suite 200
Carmel, Indiana 46032

TITLE il
SCHLAGE LOCK COMPANY

DEXTER SERIES
JD/JH60 SERIES CYLINDRICAL DEADLOCK

APPREVED

SiZe " [FLAT BYG N
S~2303 SHEET

S OF 12 | G

WE NTS | AUTUCAD |




Mo, ¢

2, 0o (G

DESCRIPTION

ITEM]|
~I SCHLAGE 5200 INTERCONNECT ASSEMBLY

——

~TSCREW, TRIM

| ESCUTCHEON ASSY.

SCREWS, MOUNTING

[ CHASSIS_ASSY. INSIDE

SCREWS, MOUNTING DB

INTERCONNECT ASSY.

| JAMB STRIKE PKG

| REINFORCEMENT STRIKE PKG. (JAMB)

=lo|o|~i o ol s ot

STRIKE PKG. DB (JAMB)

|11

'DEADLATCH & DEADBOLT
(BOLT MATERIAL IS SINTERED IRON FC-0208-40

12

T CHASSIS ASSY. OUTSIDE :

13

TFIRE_CUP

14

BAR

15

G

16

BLOCKER RING

17

TRIM RING

SCREW CYLINDER HOUSING

19

HOUSING AND FACEPLATE ASSY.

20

21

#8 X 1 1/4" PHILLIPS FLAT HEAD WOOD SCREW

48 X 2 177" PHILLIPS FLAT HEAD WOOD SCREW

22

#12 X 3" PHILLIPS FLAT HEAD WOOD SCREW

23

CYLINDER

24

#8 X 3/4" PHILLIPS FLAT HEAD WOOD SCREW

vl

7
)
b

a1

s
AF

N\

T JAMB STRI
0.067" THK, STEEL

LATCH JAMB STRIKE
0.062" THK. STEEL

AN

in
I~
™~
o
N
L~

REINFORCEMENT
0.122" THK. STEEL

IR-SCHLAGE SERIES $200 INTERCONNECT
W/DEADBOLT & LATCH

DESIGN PRESSURE RATING
(OUT—SWING / IN~SWING

DOOR SIZE DESIGN PRESSURE RATING
3'0 x 6'8 +67.0psf —67.0psf
3'0 x 80 +55.0psf —55.0psf

7

» N /

\ A
d

FROBUCT WEVILRD

PRODUCT RENEWED
as complying with the Plerichs

3 Acveptanee Ng 2F - o¥0y- l?
Expirstion Dute /2

e o .

Division

REWVISIONS
LTR DESCRIPTION DATE APPROVED
E: NEwW BORDER YMF |11/02/05
F REVISED PER DC BCCO YMF |02.13.06
'
A
BN !
gt
SINTERED IRON
FC—-0208—40
@Ingersolmand
p —— Security Technologles
9-_@. 111 Congresslonal 8ivd., Suite 200
. | Carmel, Indiang 46032
THIRD AMGLE PROJECTION | TITLE MIANT-TADE CORRTY APPRUVAL
.| | DRAWN L |DAaTE " SCHUAGE LACK COMPANY
ROT “Nwisrea
EAECRED SCHLAGE S200 SERIES
INTERCONNECTED LOCK
APPROVED SIZE |FLAY DWG NO. REV
- S-2303 SHEET 10 OF 12 |F
ENG. APPVL _ i
[ NTS | AUTOCAD | ]




COBRA FE575/576 /577 AND COBRA _REVISIONS
PLUS FE595/595/597 SERIES KEYPAD LTR DESCRIPTION DATE APPROVED
OOR PREP (KPL) (WITH SCHALGE F—LATCH) A 4 NEW: SHEET YMF  |11/02/05 L
TO BE USED WITH FOLLOWING DEADLOCKS:
SCHLAGE B260, B360 SERIES G REVISED PER DC BCCO YMF [05/02/06
@ DEXTER JD/JHG0 SERIES

INSIDE ESCUTCHEON ASSY BROADWAY B1060 SERIES

CAMELOT/PLYMOUTH
CAMELDT SHOWN

@ X440990

" QUTSIDE ESCUTCHEON
S ASSEMBLY
““sma . CAMELOT/PLYMOUTH

Y CAMELOT SHOWN

*440810

-l SCREW, 8-32 UNC-2A x 1-1/8B
RD PH HD MS
SCHLAGE FS06-000
! TYP (@
o

SCHLAGE
CYLINDRICAL LATCH 2 2.8,
16-211X440418 é’i L U0
8x1-1/4 PH FH WS
COBRA KEYPAD (KPL) ITEM DESCRIPTION
1| COBRA LOCK_ASSEMBLY
| 9 |INSIDE ESCUTCHEON ASSEMBLY
% 3 | CYUNDRICAL LATCH ASSEMBLY
@ 4| OUTSIDE_ESCUTCHEON ASSEMBLY
AMB STRIK 5 | JAMB STRIKE (10-063)
10-063 STEEL 7 LATCH MOUNTING SCREW PACK (F206-175) g
8 |#8 X 2 172" PHILUPS FLAT HEAD WOOD SCREW
AR rngerso rand
Secyrity Techniologlas
, & " Coppesrs S Sule 20
:"OWCTRENEWID | THIRD ANGLE PROJECTION [ TITLE T n ' -
TomplLng with the Mloride m;;NM " BATE SCHLAGE L{ICK COMPANY
AcceptaneeNo 98 - 0908 [F | ety s COBRA_LOCK
Expiration Datvigy 28,277 3 | | CINSIDE ESCUTCHEDND
;ﬂmiﬁﬁde -Lcl:ﬂ“n"‘t AFPROVED ¥ B’\.éﬁ m:égoa SHEET 1L OF 12 REV
. tie - - -
EXTERIOR - . INTERIOR Division E— | G
SCHLAGE F~SERIES LATCH I SWECONTS | AUTOCAD | |




p{&n

o

T

®

~ OUTSIDE ESCUTCHEON

. ASSEMBLY
CAMELOT/PLYMOUTH
© . CAMELOT SHOWN

' X440810

" EXTERIOR

COBRA KEYPAD (KPL)

A)R

-SCHLAGE F—SERIES LATCH

@)

X440930

e —

COBRA FE575/576/577 AND COBRA
PLUS FES595/596/597 SERIES KEYPAD
(KPL) (WiTH SCHALGE F—LATCH)

TO BE USED WITH FOLLOWING DEADLOCKS:

SCHLAGE B260, B360 SERIES
DEXTER JD/JHB0 SERIES
BROADWAY B1060 SERIES

NSIDE CHASSIS ASSY

©®

CREW, B-32 UNC-2A x 1-1/8
RD PH HD MS

SCHLAGE F506-000

TP (@

CYLINDRICAL LATCH
X440418
SCHLAGE 16-211

REVISIONS

LTR DESCRIPTION DATE

APPROVED

A -} NEW- SHEETY YMF  {11/02/05 .

REVISED PER DC BCCO VYMF |02.13.06

G REVISED PER DC BCCO YMF [05/02/06

(I.‘-"

[TEM DESCRIPTION
T__| COBRA LOCK ASSEMBLY
2 |INSIDE ROSE CHASSIS ASSEMBLY
3| CYUINDRICAL [ATCH_ASSEMBLY
AMB_STRIKE 4| OUTSIDE ESCUTCHEON ASSEMBLY
SCHLAGE STRIKE > 1JaMG STRIKE (10-06.)
0023 STEEL 6 | SCREWS, MOUNTING, fi8—32 UNC—2A X 1-1/8
(552 002" THK S [ LATCH MOUNTING SCREW PACK (F206-175)
A3 - #8x1-1/4 PH FH WS
8 |§8 X 2 1/7 PHILLIPS FLAT HEAD WOOD SCREW

PRODUCT REVISED

PRODUCT RENEWED @%_E

“mmhm AED ANGLE Pmﬁl‘:'::[m
Acceptance No g g 90 K . s YMF ns2/03

('_Elngerso!l Rand

Security Technologles
111 Congressional Bivd,, Suile 200
Carmel, Indiono 46032

TITLE  MIAMI= COUNTY A AL
SCHLAGE LOCK CUOMPANY
COBRA/COBRA PLUS KEYPAD LOCK
WITH SCHLAGE F-SERIES LATGH
(INSIDE ROSE>

Explration Date _ 13| JCHECKED
:,y $M el L"‘ ‘JA [APPROVED

Division
ENG. APPVL

SIZE |FLAT TG

N
S-2303 SHEET

12 OF 12

[

SRENTS | AUTLCAD | 1




